Holyvbro

Kopis freestyle 4inch Assembly Guide

(Analog Version)

Camera cushion

Se
—If“ . (M3 Pressure riveting nut)
[]

— -
;
2. Gummie 8pcs >

1\3. clamp plate

11. Long arm

14. Short arm
Buzzer holder

=5

Receiver holder

17. Screw M3*8 5pcs @

J 18. Socket cap screw M2*12 4pcs

Antenna holder
(Analog Version)

19. Bpttom plate

16. Socket cap screw M2*25 4pcs

25. Screw M2*1\2 4pcs

\\20. Aluminum standoffs
M2*20 4pcs

21. Locknut M2 8pcs

> Two ways for you to mount your camera 2 Arm adapting to 2 kinds

onto the side panel: of motors: 2 Antenna holder adapting to 3 kinds of antenna :

Foxeer Antenna TBS Immortal-T V2 Antenna Antenna sleeve

®D1=12mm, for a motor
with 12mm mounting hole;

@D2=9mm, for a motor with
9mm mounting hole.

Page |2 www.holybro.com



